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The figures in the margin indicate
full marks for the questions.

" Answer either in Eﬁglish or in Assamese.
~1.  Choose the correct option/ Flll in the blank :

1x7=7
% BeTth! A% Sl AT I o 3

(@) When using sign test, if two scores are
tled then

‘BT 1w ez F@Ce W A G
=3, ACTa
(i) we count them
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(i) we .discérd them |
(iii) it depends‘ upon the scores
3 R 0N 6o I IR
(iv) None of the above
93T OIS T

(b) 1f a Chi-square goodness of fit test has
6 categories. and N=30, then the
correct number of degree of freedom is

afit 1 Fiz-2of e e 661 Riem ot
PTF iF N=30.%F, (S o7 AAl I
() 5 o

(i) 6

(iij) 28

(iv) 29

| () Compared to parametric methods, the
non-parametric methods

WWWW‘WWW

(i) are less accurate
3 A

(i) are less efficient
N ¥
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(iii) are computationally easier
SRSl TS
(iv) (i) and (iii) are correct but not (i)
(i) S (iii) OF B (i) TR
(d) If AB ,4%@)’ then the associgtion -
‘between two attributes A and B is

‘fﬁABJily =, (O0S IO 84 A Wi

. B-3 WIE{ 79& T
() 0
. 0 |
(i) positive ,

AINE

(iii) symmetric

(iv) negative

e

(e ANOVA is a statistical method. of
comparing the _——— of »seve;al
populations. (Fill in the blank)

T4 SRR aen! (@ ANOVA
;o AR F )
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() . Consider k independent samples each
containing ny, np, ... , Nk items such that -

 ny+ny+..+ng =n. In ANOVA; we use
F-distribution with degree of freedom

1 263 kb1 T Aol afelmid ny, np, ...,
R Cﬁﬂ% A, T n, +ng +...4+4n, =n Al
@R ANOVA-F FRC F-I57 7oF A T3
() k-1, n-k |
i) k-1, n-1
(i) k-n, n-k
(iv) n-k, k-1
 (g) The .probability of type II error when
: a=005 is
a=0053 I oW @i F#H3 ﬂ'@ﬁw
LR
(i) 0025
(i) 0-05
(ii) 095
(iv) cannot be determined without
more information

ot O T T SRe g W

3 (Sem-3/CBCS) STAHG/RC/G 4



2. Answer the following questions briefly :
| - 2x4=8

(a) Define type I and type Il errors with
examples. = ,
oA 49 ST I SR 499N GHbT TR

- e ke |

(b) Mention three basic principles of design -
of experiments.
AT SforETdR BRD T WS SE 1

() Explain sign test for symmetry. '
TS (s Bz IO It 01

(d) Define association of attributes.
@ FH] At Al |

3. AnsWer any tﬁree' questions from the:
. following : 5x3=15 .

TS MARRE Rt ferv! opiq ©GY 41 ¢

(@) Write down 'all the conditions for the
validity of y2-test of goodnessvo.f fit.
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(b) In a large city A, 20% of a random
sample of 900 school children had
defective eye-sight. In other large city
B, 15% of random sample of 1600
children had the same defect. Write

- -down the required hypothesis ‘and
hence verify whether the difference
between two proportions are significant.

93 T3 527 A-5, 900 Ba-RIK fo03S 20%
e dfoni Thge i e amd @Rl
. R'F | S G2 557 B-T, 1600 TI-TaAH foes®
15% qioed AT GTF €298 FB o1 oI
51| Soge TG ol o At SReires
YRR AT A T4

(¢ What do you mean by Yates’
- correction ? Can we apply the same to
every 2 %2 table even if no theoreticél
cell frequency is less than 5? |

4+1=5
35T o A B @ 2 x 2 sﬁﬁg@
s wifi ATt TR AR Vs e eepits
RIS 5-© (F I T ?
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~(d) Given the frequency distribution —

' 1/, 0<x<6
£ 9)={ (/) , otherwise
and that you are testing the null ‘
hypothesis H, : 6 =1 against H; : =2
by means of a single observed value of
x. What would be the- sizes of type I

~and type II.errors if you choose the
interval as follows ?

{i). 0-5<x

(i) 1<x<1.5
- as the critical region

Wamwqumm—

1/, 0<xs@
f (x, 0)={ 0, otherwise

51 R o5y H : 6 =1-3Ro0F Hy:6=2
19 R Rl TR TS x4 (& bt ufEre
I+ A g &4 i D OIS RO 4
SoY S i 29 ffirz ARAACO! wTe

9 ¥ ?

) 0.5<x

i) 1<x<1-5
TR oy FA

| td.
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(e} Fillin the blanks of the following table :

woTs fim A A SRR S 5
~SoAurce - df. Sum of squares Mean squares F
B rmua - e wd F
X 6 - .
v 10 - 1095 © -
Error (&%) - - 10160 -
Total () 60 18225 |

4. Answer any three questions from the:
following : . 10x3=30

(a) Discuss the analysis of randomized
block design (RBD). . 10

mwmwmw
=

(b) State and prove Neyman-Pearson

fundamental lemma. | 10
fem-Piaes-3 s ‘13@1 %fzn i o

911
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 Two sample polls of votes for two

candidates A and B for a public
office are taken, one from among

" the residents of rural areas. The

results are given in the following
table : :
51 HRRIRY ol A o e A W
B R wRm <ol oo oo ot
= | TATEPRR ©R i

[ecy |

. | Vote for ((SIB) Total (%)
Area (@) | A B
| Rural (40) 620 380 1000
Urban 6%) | 550 450 1000
Total (%) | 1170 830 2000
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Examine whether the nature of the
area is related to voting preference -
in the election. 6

(Table value of y2for Ld.f. is 3:841)

43w T & (ST RACB! TP
TP @ois fed T (1 T

(250 ofPRIg® TR 1 T TR R

i g 3-841)
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(i)

(d) ()

(i)

In a series of houses actually
invaded by smallpox, 70% of the

inhabitants are attacked and 85% .

have been vaccinated. What is the

~ lowest percentage of the vaccinated
- that must have been. attacked ?

4

AT I AN AFS [Fg AP 70%
R SRFS (T WE 85% SR
A o FRE)| Afermes O =
wwwmmmm
efenear|

Write down the hypothesis that is
tested in completely randomised
design (CRD). Hence write down
the AOV table. 2+3=5

Srespef TP AT WSt AT
TR PR o7l | T ST 2o

- R oifes 2% =1

Estimate the missing value in case

of CRD. ' 5'
wﬁm@ﬁw%«mm'

(A5 SIFfSLB! TG 3y
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- (e)

An insurance agent has claimed that
the average age of policy holder who
‘insure through him is less-than the
average for all agents which is' 305
years. A random sample of 100 policy
holders who had insured through him .

gave the following age distribution

10

@G N GRS WA IR @ (96T TG |
W (305 IH)-SLF I | @Bl 100 T AT
eifor! Rt Bmie rers T SRace i
TR, PR 9% were At 7 ¢

Age at last birthday : 16-20 21-25 26-30 31-35 36-40
(@R erfie W) '
No. of persons :o12 22 20 30 16

(TqZQ A%A)

Calcualte the arithmatic mean and
standard deviation of this distribution
and use these values to test his claim
at the 5% ievel of significance.

[You are given that Z(1'65) = 093]
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BB A G S TAe oo Slerea
% % O RN IR N q@S TR A
5% ALFS! TS 2IKrH 71 |

- AR Z(1:65) = 0-95 ]
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